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Problem1 [ marks|: The circuit shown below is energized by a \'{:Imgo\.s‘nur:;v with (1) = 2002 cos(100mt)V
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Jﬂyd the impedance seen from terminals a&eb (Z,,).
)— Find I, V4, Vo and I,
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¢) If the reactance of =50 is replaced with an adjustable resistance Ry, to maximize the power transfer,
find the value of the resistance Ry
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Please write in arabic, your name, ID#

Problem?2 [7 marks]: For the cirenit shown below.
a) Find I, V1. V5 and [,
b) Find the power dissipated in the 400 resistor.
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Part B

Prpblem3 [8 marks]: For the cirenit shown below:
5 V(s _

a) Find Z(s) = T((T)z for the circuit shown.

b) Find the poles and zeros of Z(s).

(.) Skl“(‘h |Zln(5)| Versus s, if s = T + J()

d) If (1) = 25¢72 u(t), find the complete response i(£), ¢ > 0.
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marks|: The balanced load in the fizure shown below is fed from a balanced three-phase
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g Please write in arabic, your name, ID#, and ‘-::-'.'U”y.
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s}'h\-\w)m\.- g Vi = 230430°,,,,, and positive phase sequence. Draw the phasor diagram, -

a) th€reading of each wattmeter W, and W,
b) the total active and reactive power drawn by the load in terms of the wattmeters readings. Ao
YRy

¢) the power factor in terms of wattmeters readings.
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